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1. PM2.5 #RETRtR
M EJEE: (0~1000) 1 g/m3
WA R SRS
ATFITHE: <T%
AEE'E‘E <4%
AMRRE: =>0.97
MERZE: <100wg/m3: +15wg/m3; >100 1 g/m3: +15%
. 2. PM10 f:REaHR
A ETEE: (0~1000) 1 g/m3
I=E 114 31
2 2 M CE e
Y5 (PM10.
Eplily)A 3
1 | PM2.5. SO2. w100 | P : 0;; £ | 29 |60000 1740000
- % <10 ig/m3: +15 3 +15%
o B TVE : 5}7@‘ fl sg:%ﬁ > g/m v g/m3; >100 ng/m3: +15%/
a2y :

[gE“{,_\\ 5 7 (0~500) nmol/mol
N T R EE%—#&
Gl EERE 5%
R <o
Wi SR E] - <<120s (T90), <<120s (T10)
AT SER: +1%FS/6h
EEER: +4%FS/6h
24h ER . FTHIER. +15%FS, EFRERK: +15%FS
(KB R~ EIRE: +15%
SRR NMEIRE: +15%
1B ARNEIRE: £15%
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4. NO2 HEREIEHR

& YEE: (0~500) nmol/mol

WS R BfbEk

INERE: 5%

EET&: <5%

WR B B : <<120s (T90), <<120s (T10)
AESER: +1%FS/6h

EFRER: +4%FS/6h

24h B BRIER: T 15%FS, EFRE
RIR R MERE: £15%

SR RENMEIRE: £15%

8B B HRE RN EIRE: £15%

5. 03 EEEHEHT
MIETGEE: (0~500) nmol/mol
”’“{}\JJ?@ %1&%{2

""""..5%‘ 7

24%1\{/—;.4@ 3
1&@1?5@&7‘{@.%%;‘ \ 154
mlmﬁ%‘fﬁ%% 1

TH%/E,“WAT{E%% +15%

6. TVOC H:REFRHR
& VafE: (0~10) wmol/mol
WA EEE. PID ¥

M &ER=Z: <100nmol/mol: +20nmol/mol;

MEi%ZE: <100nmol/mol: =+20nmol/mol;

>100nmol/mol:

: T 15%FS

>100nmol/mol:

=+ 15%FS

MEixZE: <100nmol/mol: +20nmol/mol; >100nmol/mol:

+20%

+20%

+20%
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NMERZE: 5%

EE M <5%

W SR E] - <<120s (T90), <<120s (T10)

AESER: +2%FS/6h

EFEER: +4%FS/6h

24h B TEIER: +15%FS, BIEER. +15%FS

RIR R ~ERZE: +15%

SR RENERE: £15%

B E B AAERNERZE: £15%

M EiRZE: <2umol/mol: +0.4pmol/mol; >2umol/mol: +20%
7. SRR

R MEVEE: (-20~50) C, ;RMERZE: £5C

VB MIEVEE: (0~99) %RH, ~EIRZE: +5%RH

KAJE: METERE: (80~106) kPa, ;R{ERZE: +1kPa

X : MEJEE: (0~30) n/s, ™MERE: £ (0.31£0.03V) n/s
XE: MEJEE: (0~360) ° , REREE: +£3°
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